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SECTION 3 HOST ACKNOWLEDGMENT
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3.1 Implied Acknowledgment

3.1 BFBROH EIRE(ACK)

An implied acknowledgment (ACK) concept is used
to acknowledge data sent from the gaming machine to
the host for both general and long polls.
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After the host performs a general or long poll, the
gaming machine responds.
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If the host receives the gaming machine response
correctly, it can perform an implied ACK to the
gaming machine by any method detailed in Table 3.1.
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Once a gaming machine has received an implied
ACK, it deletes the information from its transmit
queue.
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3.2 Implied Negative Acknowledgment

3.2 BFBRO TG EIE(NACK)

If the host does not receive the gaming machine's
response correctly, it repeats the general or long poll
for the gaming machine.
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In this case, the host does not need to wait for the
specified polling rate time period to re-issue the poll.
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This second consecutive poll is an implied negative
acknowledgment (NACK) telling the gaming
machine to re-send the requested information.

ZD 2 8] H ORI — /LA RFERD NACK EFEOY, &
— LIV 7 AR B MO 62 RO D@ E 23
5,

If the host still does not receive the response
correctly, a third and final poll is issued.
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To the gaming machine, a third consecutive poll is a
final NACK.
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The gaming machine may respond to the poll but
must not dispose of the volatile information.
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The host ignores any reply from the polled gaming
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machine and continues with its polling cycle.
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3.3 Synchronization
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Because the gaming machine must not delete volatile
information after a third consecutive poll, the final
NACK, the gaming machine needs to keep a counter
of which poll state it is in.
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At startup, the gaming machine cannot just initialize
the state counter to the first poll state because the host
could be polling the gaming machine at that very
moment.
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Therefore, after a warm or cold startup, or after any
time when the gaming machine has not received any
address byte for five seconds (see Section 4.2, loop
break indication), the gaming machine needs to
synchronize to the host polling cycle.
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Note that if the gaming machine loses
synchronization while waiting for an implied ACK,
this must be considered an implied NACK.
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Synchronization to the polling cycle can be done in
only one way.
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After startup or loop break detection, the gaming
machine ignores any polls for itself and waits for
another gaming machine to be polled.
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Once another gaming machine is polled, or a poll to
address zero is seen, the state counter can be reset to
the first polling cycle.
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The gaming machine can now respond the next time
it is polled, knowing that it will be the first poll.

T — AITIR B D e (I DR — )L T HZ LM
HIHA U7 RBE Cxb i Al REE 72 D,

N ECE B
Ken's Services, inc./ blog@casino-age.com
My PE o - A A 25 9 Copyright 2020-2023 All rights reserved.

[SAS6.02]

3 3/3



